EARAROBEEIERT — 2 N— IBISH —F

201678160 (+) 2EES5H

SR N

5

CES)

[($57E] Fikb

‘ [R1&] & ‘ [REBE] — |2 (&) 12000 B

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Ry 2 | AKNEIGH 1:11.3 2-2 35.8| 785 | 5 402 | FIEEE (i)
2l 7= Ey 75— S A o O | @ ze=K7r-n
R4 Ua—H— B:T4I—UL—2X ZE—RIT7—L
o o8 N JLHERS 1. - . . KEFBIL (Eil)
2 1 IS 2 i 1(121)6 1-1 36.2| 75.5 | 14 (438) E%?@U
L:hxexy B:a2YIL—X RIS B
= = o2 | BEEA 1:11.6 6-4 357757 | 7 M8 | KI5 ()
3{7/13| 71 —7 1Ll 54.0 v o) | mrme
L:A—KR7IF1v B:ho¥1H RS
=L B 2 | ENEAF 1:11.7 4-4 36.0| 74.5 | 10 | 418 |EFEH (KH)
4159 Ty TIVINF 54.0 (3/4) (=) HEEE
R:TI9 84K BN ITIFAT EEAN ¢ )
S oA o2 | HOHE 1:11.8 2-3 36.2| 73.5 | 3 402 | RERA (EH)
51814 ¥/ /w7 54.0 2E) (o) ESno¥5TLy K957
L:Tw IRy b BikvhM4oa3F NESEE RS
S s # o2 | AEEE 1:11.9 13-11 349|733 | 2 446 | Bf/3EEL (55iM)
EEQ Ay HZ740 > 54.0 (1/2) (- ) Basic
LT7RYAVA-F B2 Fx—TaTIl S % — 418
EOr- 4 o2 | AEET 1:11.9 8-7 35.8| 727 | 6 448 | MAKERF) ()
7(8[15| 777712 5.0 757) P Sl i T
RN—5—-2v7 BHII53%55 =
2 | BB 1:11.9 8-7 35.8 | 72.7 | 13 | 450 |FAEARMLE (i)
8|58 |FLIT7X # 5.0 2 E) ) | B 3nTr—n
R:TF—T4FAF—XH> B:I T TrH— INTF—L
s g HHE : - TREEETE (%7H)
SO Y o2 B 1(.31/;4.)0 10-10 [ 35.6| 71.9 | 9 (432) o
R:Tr7—3IUT7> BiLA AT v EEY e ]
= N HIRHA 112, - . . S 58
FUTANYTYH o2 iy (11 132/43) 1-11 | 35.6| 69.0 | 12 (458) ol
L:T772UI7 BELIHTIAX BEREHEGEN RRHS
L = AL : — B (E#)
TIVITPTaT 2B 1'(122)'6 oo T (418) AYPIyIL=Y2 T
it /IR B:3370LTF 1 ft  FEER
- FisEX : - SREL (EH)
<25+ o2 Bl 1.(122).9 1-11 [ 36.2| 62.9 | 1 (438) ﬁmz)\
R:TL1475>T7y8 B:vabI Iy =R ie ]
NS # 2 | HEX 1:13.1 14-14 35.9| 61.0 | 15 422 | MEHIEE (EH)
ThAINT AN52.0 (1 1/4) (=) (A) %EEM%
L:F4—TAHA By I E-a> H—L—+TJv)Xr - T7—LERE
5210 2 | BEET 1:13.4 4-4 7.7 4| 4 4 HRE ()
aA3aRLT2T 2 # 540 a 33/4) ’ » (is) () INT7—L
R:Y—FHI5Y> B:FLPRIytLX B 77—54
S oa gty s AiE#t : = HARmE (EH)
15111 ¥>FKU v 2= o2 N (21{5% 15-15 | 37.4| 39.7 | 11 (436) :/‘/:r;’?)?ﬁt%
kNI4T BiTFaXI0T I BB
@ 21 L
£ 47.5-35.9
NA>ZA L | 12.7-11.1-11.6-11.9-11.6-12.4
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 11(12,14) (9,7) (10,13) (8,15)-4-(6,5) -2, 3=1
43—+ — (x11,12)14(9,7,13) (8,15)10,4(6,5,2) -3=1
[ N5
B OB 12 1,030 | | 71 K 11-12 7,830 | | B E 6-7 2,780M | | 3E#E | 11-12-13 60,810
8 B 12 280M 12-13 1,530H B = 11-12 35,340H 3EE | 12-11-13 640,480
1 2,930 11-13 15,660 B H 12-11 54,840M
13 540M

ABICOVWTRDTEEERROODE. TR LIV,




